
Séquence de Nombres Linéaires (A)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 4839 4539 4314Différence commune:2. 6695 6795 6895 7195 7395Différence commune:3. 7000 6975 6925 6850 6800Différence commune:4. 1325 1475 1625 1700 1775 1925 2000Différence commune:5. 8672 8682 8692 8702 8722 8742Différence commune:6. 3143 3068 2918 2843 2693 2618 2468Différence commune:7. 4535 4435 4335 4135 4035 3935 3735 3635Différence commune:8. 2377 2327 2227 2127Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (A) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 4914 4839 4764 4689 4614 4539 4464 4389 4314 4239Différence commune: -752. 6595 6695 6795 6895 6995 7095 7195 7295 7395 7495Différence commune: 1003. 7000 6975 6950 6925 6900 6875 6850 6825 6800 6775Différence commune: -254. 1325 1400 1475 1550 1625 1700 1775 1850 1925 2000Différence commune: 755. 8652 8662 8672 8682 8692 8702 8712 8722 8732 8742Différence commune: 106. 3143 3068 2993 2918 2843 2768 2693 2618 2543 2468Différence commune: -757. 4535 4435 4335 4235 4135 4035 3935 3835 3735 3635Différence commune: -1008. 2577 2527 2477 2427 2377 2327 2277 2227 2177 2127Différence commune: -50Mathslibres.com


